
 

Use a Normal approximation to find the probability
of obtaining at least 60 heads whe spinning
a fair coin 100 times

X B 105,0 require P X Go

F x up 50
Var x npg 25

Approx with u o

Y nN 50,52

continuity correction THNX
P x Go P 4759.5 0.0287

using Binomial
PC X Go I Pf XE 59

I 0 9716
0.0284



Jun 10

i X NCTE
A P Xc 65 0.6497

B p Go see 65 0.3677

ii XnB 578.3672

P x 5 0.3677 0.0067

iii X N 635.2510
E 0.05 5.4.45 min



Iv X N 63 5 E

Ho I 63 In N 63 fT I
Hi I 63

PCIE 61.7 0.1665 51

Accept Ho
There is not sufficient evidence to suggest

the menu time is lower on the new course


